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Number System

1. How many non-negative integers are not more
than 40?

fraet IR FoeAS qUiTR FEaT 40 ¥ AfAE
T 82

a) 39 b) 40 c)41 d) Infinite

2. How many whole numbers for ‘x’ satisfy the
inequality 2x + 7 < 39?

HHAAT 2x +7 < 39H HJC A a1 x
¥ fraat e Qo wEATU R

a)15  b)16 )17 d) 24

3. How many positive integers for ‘p’ satisfy the
inequality 3p + 5 < 33?

IHAAT 3p + 5 < 33F HJSC WA I
p' & fhast A uaeRs QUIfs ¥
a)8 b) 9 c)10 d) 11

4. How many positive even numbers are not more
than 82?

frdsl gaTcH® ¥H WE&IIT 82 ¥ 8« o1dl
¥

a) 39 b) 40 c)41 d) 82

5. Let S, be the set of all positive integers less than
52 and S, be the set of all non-negative
integers not more than 81. Let ‘X’ be the
number of elements in §; and ‘Y’ be the

number of elementsin S,. Find Y — X?

S, T =g ¢ w52 @ Bk @
UATcHE YUITH ¢ F S, T GOV WHoeT &
s ar @it A Honews quitE ¢ S 81
¥ 93 ¢t §| IR WA= 5, H X wEAw
TS, HY &AW § a 'Y — X’ AT FL?
a) 29 b)30  ¢)31 d) 32

6. What is smallest six-digit number that can be
formed using the digits 0, 1, 3, 4, 5, 7?

HF 0, 1,3, 4 5 7% g4« Jrell FEA B
S: A H F&AT ST dY gl

a) 134570 b) 103457

c) 175430 d) None

7.1f a & b are odd numbers, then which of the
following is even?

e a 3 b A GEAT, O 5HH A 9H qEA>T

Hlad
aJa+ b+ ab b)a+b-1
cJa+b+1 dya+ b+ 2ab

8. Let a & b be even integers and ‘c’ be an odd
integer, which of the following is odd?

IR a 3R b A FEAC § 9 ‘C TH QWA
& § ar @ A7 @ ST @ gear fAww
1

a)ab + bc + ca

b) a? + b? + ¢

c)a’b + b%*c + c*a

d)a(b + ¢) + b(c + a) + c(a + b)

9.If x and y are natural numbers such that x +
y = 2017, then what is the value of (—1)* +
(=1)7?

g x IR y yfaw wEaw 5@ IR
#ox+y=2017 g (—1)*+ (-1 @
A F4T §?

a)2 b) —2 )0 d1

10. If 2x + 3y is odd, which of the following must
be true?

IR 2x + 3yfaww &, A & @ w7

AT T Imm?
a) x is even b) y is even
c) x is odd d) y is odd
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The sum of p even numbers is even and the
sum of q odd numbers is odd. Which of the
following must be true?

p A WEAT FT AShd H & T q B9
&G FT AFer fAww §| Feafaf@a &
& FleT a1 T gheme

a)p + qiseven
c) pq is even

b)p + qisodd
d) None

If a & b are two odd positive integers, then by
which of the following integers is (a* — b*%)
always divisible?

I a3 b A BvA vaeAs s § a
AR ¥ T § [OF ¥ (at - p*) gAA

fsnfaa greme

a)3 b) 6 c)8 d) 12
If x & y are even positive integers and z is odd
negative integer, which of the following is

definitely true?

IR x AR y Al YeATcHS WH qUiid § 9
z HTcAF Rww quits § o Rrafaf@a
# & lear quiaar wcx gem?

a) (x - y) zis even and positive

b) (x - y) zis odd and positive

c) (x - y) zis even and negative
d) None

If ‘a’ is even integer, and b & c are odd
integers, which of the following cannot be an
integer?

3R ‘a’ GH WEAT ¢ T b 3R ¢ AvH wEgw
g B & @ Flawr iE ad &
a)b/c b)ab/c c)ac/b d)bc/a

Consider the following statements in respect of
two integers p and q (both > 1) which are
relatively prime.

1. Both p and g may be prime numbers.

2. Both p and g may be composite numbers.

16.

17.

18.

19.

3. One of p and q may be prime and the other
composite.
Which of the above statements are correct?

ar quil p 3K q @& >1), st &
AETd: I 8, F ool & Aeafaf@a
Fy=l W AR fifaw:

1.p 3R g QAT FHTST TEIAW & Fehdll g
2. p 3T q BT HIST FEAW g Tl g
3.p AR g & ¥ vw vy 3k qEd ae
g Fha B

39cH H ¥ Fla-¥ Fa1 TH 82
a) 1 and 2 only b) 2 and 3 only
c) 1and 3 only d)1,2and3

If ‘N’ is an irrational number, then which of the
following must be a rational number?

IR ‘N’ TH 3INAT &1 ¢, Y a7 &
S8 &A1 gAAT IRAT Feie

a) VN b) N2 c)g d) None

Which of the following statements is true?
Aefaf@d & @ #l9 § Fya7 a7

Every complex number can be expressed in
the form of real number.

Every integer is a natural number

Every real number can be written in the
complex form

Every real number is an integer.

If x is positive even integer and y is negative
odd integer, then x¥ is

I x 4T WA I § AR y wor faww
qUis g, x §

a) Odd integer
c) rational number

b) even integer
d) None of these

If I=a%*+b%+c% where a and b are
consecutive integers and ¢ = ab, then I is
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IfE I = a? + b? + ¢* &, el a 3 b FAPT
Q(:U1‘i$§:3ﬂ1'c=ab %,HTIEF-HT%?

a) an even number and it is not a square of an
integer

b) an odd number and it is not a square of an
integer

c) square of an even integer

d) square of an odd integer

Let ‘x’ be the sum of all prime number less than
30, and ‘y’ be their product. Which of the
following is true?

30 ¥ B¢ ¥ HAT=T FEIET FT AT v
¥ 3R 3w e Yy ¥ RERRRT &
¥ Fiar w7 2

a) x is even, y is odd
b) x is odd, y is even
c) both x and y are even
d) both x and y are odd

x, y and z are distinct prime numbers where
x<y<zlfx+y+z="70,then whatis the
value of z?

x, y a41 z fAfrss T wEAw §, el
x<y<zglTFE x+y+z=70¢ A z &1
AT FIT 2

a) 29 b) 43

c)31 d) 37

x, y and z are prime numbersand x +y + z =
38. what is the maximum value of x?

x, y 3 z INST H&AW & d9T x+y+

z = 38%| x &1 JwaH AT FAT 82
a) 19 b) 23 c) 31 d) 29

The sum of three prime numbers is 100. If one
of them exceeds another by 36, then one of
the number is

e e FEITHT FT Ferher 100 F| IS
g ¥ v Tl qEdt wEwr @ 36 IfAw
¢, de 3o g3t A ¥ us wEdr ¥

24.

25.

26.

27.

28.

29.

a) 17 b) 29 c)43 d) None of these
If x is a prime number, which of the following

cannot be true?
IR x TF HHTST &1 ¢ o Aefef@a

# & wlaar g7 A & FHar
a)x + 2isprime
c)x + 5isprime

b) x + 3is prime
d)x + 7is prime

Let p, q, r be three consecutive odd
numbers. If all p, q, r are prime, find ?

IR p,q,r i TMEAR RAYFT gEaw § g

A p, g, r FHTST M F A r AT F?

a)8 b) 7 c)11 d) can’t say

If N,(N + 2)and (N + 4) are prime numbers,
then the number of possible solutions for N are

IR N, (N+2), (N+4) IHT TEAT §,
@ N F fav ganfaa gal i g&7Gm 741 2
a)1l b) 2 c)3 d)Noneof these

If N2 — 33, N> — 31 and N? — 29 are prime
numbers, then what is the number of possible
values of N, where N is an integer?

Ife N2 —33, N2 — 31991 N2 — 29 AT
FEAC g, Y N & waTad A fFde &,
ST N T& QUi g2

a) 1 b) 2 c) 6 d) None of these

The number of prime numbers which are less
then 100 is

100 & BIET TSI FEA3T (prime numbers)

T e §
a) 24 b) 25 c) 26 d) 27
If m is the number of prime numbers between

0 and 50; and n is the number of prime
numbers between 50 and 100, then what is
(m — n) equal to?
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Iy 03 50 F T ew wEATAHT A
&g m g; 3R 503 100 F AT T
gegt i g e (m — n) FaEFH
| &2
a) 4 b) 5

c)6 d)7

How many composite numbers are there from
53t097?

53 & 97 aF fraell §gFd HEAT 2

a) 36 b) 38 c)37 d) 35

A prime number contains the digit X at unit’s
place. How many values of X are possible?

TFH HHTST E&AT A SHE F TI I P

X 8|39 YR F fhds 3% X & & &2
a)3 b) 4 c)5 d)6

How many two-digit prime numbers are there
between 10 to 100 which remains prime
numbers when the order of their digits is
reversed?

10 ¥ 100 ¥ &g a 3 i W FFa=r
AT FE&IT ¢ s 3T & FH F Telcad
W A I vF IS HEAT & I

a)8 b) 9 c)10 d) 12

The number of pairs of twin primes between 1
and 100 are:

1 3R 100 & = 347 A>T FEAHT F
a3 &

a) 10 b) 8 c)9 d) 7

Which one of the following is a prime number?

faf@d & O Fiaar & e g
¥

a) 161 b) 171 c)173 d)221
N is the smallest three-digit prime number.
When N is divided by 13, then what will be the

remainder?

36.

37.

38.

39.

N @ 3 T IR BN AT FEAT ¥
T N & 13 ¥ Rsnfoa fsr amar & ar

AYFT FIAT GIIM?

a)8 b) 9 c)7 d)10

Which of the following statements is not true?
ffaf@a & & sla-ur Fy= ad ad
The difference of two prime numbers, both
greater than 2, is divisible by 2

For two different integers m, n and a prime
number p, if p divides the product m X n,
then p divides either m or n

If a number is of the form 6n — 1 (n being a
natural number), then it is a prime number
There is only one set of three prime numbers
such that there is a gap of 2 between two
adjacent prime numbers

Find the average of all the prime numbers
between 1 to 50. [Give your answer correct to
one decimal place.]

1 ¥ 50 & i Hr gt roeT AEIHT FT
3taa AT ST [EHAAT & 916 Th TATT
d% quitidd]

a)24.9 b)34.9 ¢)52.9 d)21.9

Ratio between average of first four prime
numbers and first four composite numbers is

YYH I FATST & 3R guH Ar
Ao FEATAHT F iwal FT Iqard AT F
a)13: 10 b)17:27 ¢)11:27d)17: 19

P, is the average of all prime numbers below
12 and P, is the average of all prime numbers
between 12 and 30. what is the value of
5P, — Py?

12 & vga 1 Wy ey Wt #r
staa p, & 3k 123k 30 & i v wsit
HATST WEATHT &7 3it9a P, &| 5P, — P,
FT A AT HfAT|




40.

41.

42,

43.

44,

By Bhutesh Sir:
CAT Topper (98.74%ile)
3 times CGL selected

SUBSCRIBE “e1 coaching center” on YouTube & get:

Best content for SSC CGL, CHSL, CPO, MTS, CDS, Railway
Latest Exams questions solutions
Best series for All competitive Exams

SSC CGL Tier 2 (2011 to 2021) All ques Chapter wise with pdf

SCAN THE QR CODE

O 'ﬁ-"E]

‘-.

: *Daan

S

a)7.8 b)8.6 ¢)9.8 d)7.5
The difference between the squares of two

consecutive odd integers is always divisible by
ar wAEG fawew quier & et &1 W
gaen frad fassw @7

a)3 b) 7 c)8 d) 16
If k is any even positive integer, then (k% +

2k)is

IR k FE TH O QOIS g, @ (k2 + 2k)
a) Divisible by 24

b) Divisible by 8 but may not be divisible by 24
c) Divisible by 4 but may not be divisible by 8
d) Divisible by 2 but may not be divisible by 4

What is 26% + 972 equal to?
262 + 972 fFu® W 2
a) 27% + 932 b) 34% + 932
c) 822 +41%  d)79% + 622

Which of the following is correct in respect of
the number 1729?

TEAT 1729 & Wy & faf@a & &
i @1 TH FYT FWE 7

It cannot be written as the sum of the cubes of
two positive integers

It can be written as the sum of the cubes of
two positive integers in one way only

It can be written as the sum of the cubes of
two positive integers in two ways only

It can be written as the sum of the cubes of
two positive integers in three ways only

Five consecutive even numbers are such that
the sum of the smallest two is exactly equal to
the last number. If these five numbers are
written in ascending order, what is the middle
number?

9T FANTT 7 &I 50 YK § fF qed
B QY &3 FT 1S IO I8 FEAT F

45.

46.

47.

48.

A ] 3R ¥ T ded &4 &

& ar dw fr gEIr AT w2
a) 6 b) 8 c)10 d) 12

For any two real numbers a and

b, \/(a—b)2+ \/(b—a)?is
fregl & aredfas et a 3R b & fAv,

V(@—b)?+ (b—a)? gem
a) always zero

b) never zero

c) positiveonlyifa +# b

d) positive if and only if a > b

If [n] denotes the greatest integer < nand (n)
denotes the smallest integer > n where n is

any real number, then( ) [1] ( )
[1 E] +(1.5) is.

IR [n] F FaAT TE¥ I8 Q< 3R
(n) FT AJAT TG BT IF > n § Fawt
n #§ awafas Few &4 (1) x |17]-
(1§)+[1§]+(1.5)Wmmm'

a)1.5 b) 2 c)2.5 d)3.5
Convert the following decimal values in
fractions

Sol SAAT AW A e 7 T

a) 0.47

b) 0.53

c) 0.512

d) 0.423

e) 0.3174

f) 2.712

g) 4.13

h) 2.73

Express 0.346 as a vulgar fraction.

0.346 Y YR e & T F =Tad HY|
e P Vs Do
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The value of 22.4 + 11.567 — 33.59 is: 56.let x=1.05+-0.95x0.409 and y=
(0.75+0.226) x (5.09 + 1.7), then the

22.4 + 11.567 — 33.59 &T AT ¢
a) 0. 32 b) 0. 412
) 0. 31 d) 0.412

If A=0.312,B =0.415 and C = 0.309,
then what is the valueof A + B + C?

Ife 4=0.312,B =0.415 4T C = 0.309
g, A+ B+ C &1 AT fhder &2

a)1141/1100 b) 1097/1100
c)1211/1100 d) 1043/1100

The value of 0.47 + 0.503 — 0.39 x 0.8 is:
0.47 + 0.503 — 0.39 x 0.8 T AT FIT &?
a)0.615 b)0. 615 c) 0.625 d)0.625

The value of 0.46 + 0.723 — 0.39 x 0.7 is:
0.46+0.723 —0.39x 0.7 T AT AT
C

a)0.77 b)0.87 ¢)0.57 d)0.97

The value of 0.56 — 0.723 + 0.39 X 0.7 is:
0.56—0.723 +0.39 x 0.7 &T AT &
a)0.154 b)0.154 ¢)0.158 d)0.158

The value of (2.4x0.6x3x0.16) X
[0. 27 x (0.83 = 0.16)] is:
(2.4%x0.6x3x0.16) x[0. 27 x

(0.83 + 0.16)] FT AT AT HfAT ?

a)0.11 b)1.36 ¢)0.814 d)1.1
0.4+0.567-0.59 .

The value of (0.226+0.75)x3.4+2.54x3.3 S
between :

0440567059 o oo ¥ o
(0.226+0.75)x3.4+2.54%3.3 —
grem|
a)0.1and 0.2 b) 0.3 and 0.4
c)0.4and 0.5 d)0.2and 0.3

57.

58.

59.

60.

value of xy is:
AT & x =1.05+0.95 x 0.409 3K y =
(0.75 +0.226) x (5.09 + 1.7) g al xy &1
AT fFaer gem?
a) 0.45 b)4.5

c)0.54 d)5.4

f (0.95+1.05)+0.409 ,

(0.84+0.93+0.54)
(0.95+1.05)+0.409
(0.84+0.93-0.54)

The value o

FT AT AT HiST|

2 1 1 1
Letx = (0.47 ~ 0.52) +~2.272 and y =
3 2 3 .1 7 .
15—13 of33757 of 9.What is the value
of =2
y

AT &F x=(0.47 +0.52) + 2.272 3k
3 2 3 . .1 7 x
y=1E—160f3HTS;Of; %,(_'ﬁ ; Cal

AT Faar gem?
3

a)% b)g c)g d)

If x is a positive quantity, then what is the
value of 3x, if 0.423 — 0.2 of 52.5 + 0.84 =
x?—(0.021+12.5)?
I x uaATcHS TR &, ar 3xHT AT FAT
2, IfE  0.423-0.2 of 52.5+0.84 =
x*—(0.021+12.5)?

4 1 2
How many of the following are irrational
numbers?

I: 1.4689723...... Il: 0.27777......

. +v243 iv: 1.2020020002.....
fmafaf@a & @ fFas geae 3RAT &2
I: 1.4689723...... Il: 0.27777......

.v243 iv: 1.2020020002.....

a)o0 b) 1 c)2 d)3
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Let N = 0.363636 ... What is the smallest
positive number that is to be multiplied to N so
that the result is an integer?

AT o N = 0.363636.... 8] N& g
St ¥ B wAcAS HEAr @ qon fRa

ST arfer g v quits e
a)99  b)90 )11  d)9

Let N = O0.abababab.., where a, b are
nonzero digits. Three of the following numbers
when multiplied with N definitely produces an
integer. Which is the odd one out?

HA & N = 0.abababab... § T a & b yd
Tt ¢ Afereaf@a & @ fia e
¢ 9 N @ 7o A W v quits gred

giar 2| 9l s=ar Fiw @
a)198 b)594 ¢)900 d)990

If A = 0.abcabc ..., then by what number A
should be multiplied so as to get an integral
value?

gfe A = 0.abcabc.......... %, ar A a1 R
TEAT F I AT se arfe v quits A
qred &

a)2997
c)1998

b)1000
d) Both 2997 and 1998

Which of the following numbers has a
terminating decimal?

15 29 7 77

600’343’ 22x72’ 210

fafaf@a & ¥ 9 g&ar &1 & @9

eAHT ¢?
15 29 7 77
600’343’ 22x72’ 210

29
b) >3

7

15
%0 Y

600
Which one of the following rational numbers
has non-terminating and repeating decimal
expansion?

66.

67.

famfaf@a & @ e oy wer #
Ied | HAGHTA GG qererd 82

A= b)> d) 2

c) 3>
1600 50

Let ‘p’ and ‘q’ be two non-zero integers. The
fraction p/q when converted to decimal form,
the result is a non-terminating decimal. Then q
cannot be:

p 3R ‘g W =7 quitw & F9 Fe=t p/q
I AAAT 9 H for@r Jrar § ar a8 arend
EUAATT §o1 o1l §| q e # @ 7 At

8 "FHanr
a)3 b) 5 )7 d)6
How many significant digits are there to the

right of the decimal point in the product of
95.75 and 0.02554?

95.75 3IX 0.02554 ¥ VTS A GUHT
g & o1 3R s wrdw 3w @2
a)4 b) 5 c)3 d)6

. Consider the following statements

There is a finite number of rational numbers
between any two rational numbers.

There is an infinite number of rational
numbers between any two rational numbers.
There is a finite number of irrational numbers
between any two rational numbers.

Which of the above statement(s) is/are
correct?

fArafaf@a Fyat W far fifaw:
fheel & IRAY FEt & i F D
vt Y IRAT w7 gt 2

gl &t IRAY TEait & v & o
wEast A Id wEdr g

fregl & oA et F fg &
aRAY et i aRfAT T adt #)
3uad # ¥ FlaT WU/ FUT A€ FE 2
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a)Only 1
c) Only 3

b) Only 2
d)2and 3

If N =0.369369369 .... and M =
.531531531 ...., then what is the value of

)+ &)
& N=0.369369369... T M=
531531531..., &, & (1) + (5;) 7 71 T

14
a) 11100/2419 b)1897/3162
c)111/100 d) 2419/11100

If 56 X 75 X 60 x84 x210 = 2P x 39 x
57 x 7° then what is the value of [pTH’] +r?

I 56 X 75 x 60 x 84 x 210 = 2P x 39 X
57 x 75 [24] + 1 AR FTE?

a)6 b) 8 c) 12 d) 10

If (18)* is exactly divisible by 32°, what is the
smallest possible integer for k?

PR (18)%, 3% ¥ it e RS &
ST & A k FT I BT AT AT 191 ?
a) 14 b) 15 c) 29 d)30

What is the least value of n such that 10" is
exactly divisible by 1600?

‘" FH AGAAH Hed AT I IR 107,
1600 & gt avg fasnfora & smar B

a)6 b)5 c4 d)3

If p and q are positive integers such that 187
and 129 are divisible by 108, the minimum
value of pq is:

3R pd qaMl HATcH® YUITF § d 18P and
29, 108 & Refard & s & @Y pg &
ALATH AT AT F?

a) 10 b) 8 c)9 d) 6

74.

75.

76.

77.

78.

79.

If (36)%" s divisible by 281, where n is an
integer, what is the least possible value of n?

IR (36)%, 28 ¥ Rnfoa & amar &,
olgl n Th q‘:UfﬁF %, n&$Y dgddH gHT AT
AT A2
a)19 b) 20

c)21 d) 40

Find the smallest number which gives a perfect
square when multiplied by 392.

@ S &I AT AfSF ¥ 392 @

IOT FI 9T qof o g

a)7 b) 2 c)a d) 14

By what smallest no. should we divide 2800 to
make it a perfect square?

9% 98 S g s €@ § SEd 2800
S T & W qof et yred &

a)2 b) 4 c)7 d)9

By which smallest number 1323 must be
multiplied, so that it becomes a perfect cube?

98 999 o8 T&aT S @ § owd 1323

ST IOM FA G qoF g gied &n
a)9 b) 3 c)21 d)7

The smallest natural number by which 5145
must be divided to make the quotient a perfect
cube is

I8 W99 D1 UPplae FEwm i @ g
SEd 5145 FI AT & W HPTHA Th O

el B?
a) 15 b) 3 c)5 d)7
Find the smallest four digit perfect square

which is divisible by 44?
44 ¥ fonfarg & S e IR 3P F
Fa@ BT gt J9F AT W |

a) 484 b)1452  ¢)1936 d) 4356
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How many four digit perfect squares are
multiples of 72?

72 ¥ fFast O AR AP F qOF 9 § 2
a)6 b) 7 c)8 d)9

‘N’ is an even number such that 3N is a perfect
cube. What is the smallest possible value of N?

N U&F §H &A1 56 9K ¢ & 3N qof gor
T | N & FqAdH §HT AT AT FL |
a)36  b)4s c) 60 d) 72

How many perfect cubes are there between 1
and 100000 which are divisible by 7?

1100000 & & s QT e g s 7 &
fenfaa &

a)5 b) 6 c)7 d) 15
461 4 462 | 463 4 464 is divisible by

461 4 462 | 463 4 464 fFgd Rnfaa &2
a)3 b) 10 c) 11 d) 13
571 + 572 4+ 573 js divisible by

571 + 572 + 573 fHad fQsnfoa &2

a) 150 b) 160 c) 155 d) 30

571 + 572 + 573 + 574 1+ 575 s divisible by
which of the following number?

571 + 572 4 573 4 574 4 575 fgw v fQAHenl
#A ¥ 5w gEar @ Ry

a)71 b) 69 c) 89 d) 73

2122 4 462 4 812 464 4 2130 5 not divisible
by which one of the following integers?

2122 1 462 1 842 1 454 1 2130 frafafaa
# ¥ frg quites @ fasmsT w76t 82
a) 11 b) 62 c) 22 d) 93

Which one of the following is the largest divisor
of 3x+3*1+3%2 if x is any natural
number?

88.

89.

90.

91.

92.

I x F§ U Uit feafaf@a & & i
HT UH, 3x+3x1+3x2FF FIA 30

ST § ?
a)3 b) 13 c) 39 d) 117
If the sum of five consecutive positive odd

numbers is a perfect square, which of the
following can not be one of the numbers?

IR 91T IR UellcA® QAYH &3t &1
Sishel T qof @9t B, Y e & @ Fla
@ &1 39 WEIIHT A q UH HE&IAT Al

& dHhdr § ?
a)7 b) 51 c)43 d) 127
If b is largest square divisor of ¢ and a? divides

¢, then which one of the following is correct
(where a, b and c are integers)?

I ¢ F gEaH T e b 7 AR ¢ A
o’ Bioa &t g @Y Peafef@a & @
FiT AT UH W 82 (a, b, c T FEAW )

a) b divides a b) a does not divide
c) a divides b d) a and b are coprime
The number of (a, b, c), where a, b, ¢ are

positive integers such that abc = 30, is
(a, b, c) # WEAT fhasit § @ a, b, c
TATCHE YOI 8, 59 YFR fF abc =302
a) 30 b) 27 9 d)8

How many even factors of 1008 are not
divisible by 8?

10083;%#@@3'@38#1%341@

gt &2
a) 16 b) 12 c) 18 d) 24
How many factors of 1080 are divisible by 6 but

not by 9?
1080 & fraer IUer@vs (haem) W § S
6 ¥ a Renfora &Y I 8§ W 9 & aAdH ?
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a) 24

b) 12 )6 d) 4

Find the number of factors of 480, which are
divisible by 6 but not by 8?

480 % fhaat qorer@s ¢ S 6 ¥ Rl

81 & Weg 8 | e |
a)2 b) 4 c)8 d) 16

How many factors of 22 x 31 x 52 x 71 are
divisible by 50 but not by 100?

22 x3'x 52 x 7' & fhaa querE@s 50 &
R § dfheT 100 & @R
a)a b) 12 c) 16 d)8

How many factors of 7200 are perfect squares?
7200 % fdet oTer@os qot @9t § ?

a)6 b) 8 c) 12 d) 16

How many factors of 10368 are perfect cubes?
10368 & fFcet IUreT@Us Ut et § 2
a)a b) 6 c)8 d)9

If N= 9% then N is divisible by how many
positive perfect cubes?

gfe N=9°%, a n, Fda UITcHAS T @
G I
a)6 b) 7 c)a d)5

How many factors of 360 are in the form of 4k
+ 2, where k is an integer?

360 ¥ frae JUTEUS 4k+2 F T A ©,
el kT QUi § |
a)3 b) 6 c)9 d) 12

If N=411 4+ 412 4 413 4 414 then how many
positive factors of N are there?

iy N=4114412 448 1414 @ n &
fraa uaTeR® UrEEs 82

a) 92 b) 48 c) 50 d) 51

100. If N=31* + 313 — 12 then what is the largest

prime factor of N?
e N=314 4+ 313128, a nFT X T
TS UGS FAT 82

a)l1 b) 79 c)13 d) 73

101. For how many positive integer values of n,

n?+11n+48 .
——— is an integer?

n & fFda UdeA® qUite AW g 3R
2
n+11lln+48 W'TJ'I‘H?%'?

a) 8 b) 10 c) 12 d) 15

102. When 200 is divided by a positive integer x,

the remainder is 8. How many values of x are
there?

99 200 F TH U OIF x & Renfaa
AT Iar g AT AT g U AT & x F

s A= & aFa &2
a)7 b) 5 c)8 d) 6

103. When 732 is divided by a positive integer x,

the remainder is 12. How many values of x are
there?

a9 732 # F g iF « @ Renfaa
fFar Sar &, ar A 12 @ar §1 x F frast
A & g6 &7
a)19 b) 20

c)18 d) 16

104. When 43 is divided by x, the remainderis x —

5. If x is a natural number, how many solutions
will x have?

I 43 # ¥ Rnfoa AT amar & ar
AIG x — 58T ¢ T x TF WiFa &

g ar xF fFaa g g
a)5 b) 4 c)6 d)3

105. How many natural numbers less than 225 has

odd number of factors?
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225 @ ®H wipfas weast # frad
FEaTAt & IorEst Hr wEar v
a)12  b)11 )15 d) 14

106. The total number of three digit number which
have only 3 factors will be?
3 ¥y wEAHt M T @EAT FAT A,
fSad Faer 3 qurrEs g
a)6 b)9 c) 45 d)7

107. Let p, q, r and s be positive natural numbers
having three exact factors including 1 and the
number itself. If ¢ > p and both are two-digit
numbers, and r > s and both are one-digit
numbers, then the value of the expression

—g-1.
£ IS:

r—s

A & p g r IR suaHF Ufaw
(exact factors) H 1 3\ Ta¥ wEar off #1
aﬁq>p3ﬁra’m’fa’r-aﬁmrmﬁ’%,am
r > s3I g TH-3FT FEIAW &, dt sASH
P a1 A fveer g

a)—s—1 b)s—1 cJl—s d)s+1

108. Find the number of prime factors in the
product (30)° x (24)5.
(30)5 x (24)° H IHTeT TEAAHT T FE&AT
EIGECIE L
a) 45 b) 35

c)10 d) 30

109. What is the smallest number which has
exactly 6 factors?

6 AUTTEUS! aTell FaW S FEAr T W
87
a)72 b) 32 c) 18 d) 12

110. What is the smallest number which has 15
factors?

¢TI B EAr Ad # fOEd 15
OGS § ?

a)1202 b)124 ¢)144 d)180

111. In how many ways 320 can be written as a
product of two integers?

320 #I fhaat al® ¥ & qUITHT & IUTH

F w0 F @ 1 GFar g ?

a)7 b) 14 c)8 d) 16

112. How many positive integer pairs of p & q
satisfy pq = 324?

THFIOT pg =324 A pdT q F fhaa
UecHE qUitd 13 HIse F & ?

a)7 b) 14 c) 15 d) 16

113. How many numbers less than 36 are relative
primes to 36?

36 ¥ B fhael TEAT 36 T TE HATHT
.

a)9 b) 12 c) 18 d) 24

114. How many numbers less than 100 are co-
primes to 30?

100 ¥ B fFd«r W dEae § S 30 F

I 3WeAT &2

a)73 b) 27 c)74 d) 26

115. How many numbers not more than 100 are
co-primes to 18?

18 & I IWedrsy UH fhraesy dEant §

ST 100 ¥ &= aET &2

a) 33 b) 34 c) 66 d) 67

116. The sum of all even factors of 320 is:

320 & waft W FUrTEUSt F A3 AT
a) 635 b)630  ¢)756  d)762

117. Find the sum of all odd natural numbers
which can divide 540?
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Rt -_§,
IJ'-;- ’ oy

A

T Rww ysfas gEaEt 1 A qaqnv
St 540 Fr fnfaa T dFdT &2
a)390 b)78 c)240  d)468

118. Find the sum of all factors of 840 which are
divisible by 6?

840 ¥ 3o |t IourTEUst (vFex) FT A3

AT AN 6T RMGaT s g ?
a)2016  b)2640  c)2160 d) 1872

119. The sum of all the even factors of 504 which
are not divisible by 8 is:

504 ¥ AR WA UGS Sl 8 W AT
78T €, 3T AT ¢

a)728  b)624 c) 488 d) 784

120. Find the sum of all the factors of 1240 which
are divisible by 4 but not by 8?

1240 F 3o IOTES! FT AT AFrel S 4

T A AT & W8 A HIST 8T &2
a)480  b)468 c)720 d) 768

121. What is the sum of the divisors of 484 that
are perfect squares?

484 ¥F Rurarl &1 AT FAT § A QT o
87

a) 125 b) 35 c) 610 d) 13

122. What is the sum of all the factors of 1080
which are multiples of 3 and end with 5?

1080 % 37 WX IOTAGUST HT AT FAT N
S 3 & U ¢ AN IAF IFE F T

9T 5 3ATAT 87

a) 285 b) 195 c) 315 d) 225

123. What is the product of all the factors of 576?
576 ¥ Wl AUTTEST FT UG AT FI?
a) 24%1  p)241° c) 247 d)24?%°

124. What can be the maximum value of p so that
0!
. . 5
—» is an integer?

p & FfFaw A T @ wwar ¥ B 2D
TF qUitE gr
a)25  b)15

c) 26 d) 30

125. Find the maximum value of P such that % is

an integer.

P &1 W FRFdA AT AT Hifod Sad
— U Ui g

a) 16 b) 17 c) 18 d) 19

126. If 6% is a factor of 90!, what is the maximum
possible value of k?

3T 64, 90! FT TH IOIES § af kFH

HFaH w3HT AT AT B |

a) 15 b) 17 c) 44 d) 86
200! . . .

127. If “or is-an integral value, then find the

maximum value that x can have.

afe 2 us woqet A &, A x T Aftwan

49%
AT FIT @ HhaT 8l
a) 32 b) 16

c)11 d) 4

128. If 82! is exactly divisible by 4", then n cannot
be greater than:

3R 82!, 4" ¥ quiaan Renfora & smar @

ar nfArT # ¥ BFEA T37 AE @ FHaAR
a) 78 b) 26 c) 39 d) 40

129. If 100! is a multiple of 24", then the maximum
possible value of r is:

3R 1001, 24" FT TF IO g a rar
HFIH 9T AT AT FL |

a)4d b) 48 c)13 d) 32

130. Find the total no of zeroes after the right most
non-zero digit in 100!.
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100! F - IHHT F 1§ I FA AT
I FEAT AT P
a) 9 b) 10

c)24 d) 25

131. Find the total no of zeroes after the right most
non-zero digit in 120!
120! 7 AL IHHT F 1§ I FA A
A g&ar AT Hifo:
a)12 b) 10

c) 24 d) 28

132. Numbers 2, 4, 6, 8, 10,............... 396, 398, 400
are multiplied together. The number of zeroes
at the end of the product on the right will be
equal to-

TEAT 2, 4,6,8, 10 196, 198,
200 T 39" # Ao fFAT| AUTAGT F T
3T 3T & gl &A1 AT Ao

a) 49 b) 40 c) 48 d) 99

133. Let n be an integer such that n! ends with 50
zeroes. What is the maximum possible value of
n?
n U qUITF 30 YFR 8 & n!&F 3=a & 50
I ¢ | ndr HAFAR WHT AW AT I
I
a) 204 b) 205

c) 209 c) 210

134. The number 25% x 6425 is the square of a
natural number n. The sum of digits of n is

TEAT 25% x 6425, WIHfad HEAT n&FT T4
gl n& 3w F1 AT AT fifo:

a)7 b) 14 c)21 d) 28

135. Find the zeros at end of (126! — 125!)

(126! — 125) & 3d # T G
a) 34 b) 35 c) 31 d) 30
136. From the following numbers, find the

numbers which exactly divisible by 42.

Afaf@a seaet & ¥ 3 g9’ aa
T N 42 F i RarsT

a) 25232 b) 25242
c) 25244 d) 25212

137. How many of the following numbers are
divisible by 156?

Arfaf@d & @ Fasdr &9 156 @
s &2

312, 620, 939, 1402, 1872, 3216, 7176, 8108

a)5 b) 3 c)4 d) 2

138. If a nine-digit number 7698x138y is divisible
by 72, then the value of \/4x + y is:
gfg At 3% arell §&AT 7698x138y,72 |
R &, aY Jax + y FT AT AT R
a)8 b) 6 c)9 d) 5

139. If a nine-digit number 389x6378y is divisible
by 72, then the value of ,/6x + 7y will be:
gfg at sier A HEAT 389x6378y, 72 |

fsnfora &, @ \/6x + 7y T AT g :
a) 6 b) V13 c) V46 d)8

140. If the 9-digit number 5p42978n6 is divisible by
72, what is the value of (2p — 1), where n is
the second largest of all the possible value of
n? Given that p and n are natural numbers.

e 9 3R Y TH TEAT 5p42978n6, 72 T

Remsa &, aF 2p — 1), F71 A FIT {9,

Sel n, n & weft wanfa@ A & @ Q@A

W T37 32 2 araw ¥ &F p 3R n wEfaw

S

a) 15 b) 21 c) 11 d) 17

141. If the 8-digit number 888x53y4 is divisible
by 72, then what is the value of (7x + 2y), for

the maximum value of y?
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gfe 8-3iF aredl TEdT 888x53y4, 72 & 146. If a number 54k31m82 is divisible by 11,

what will be the maximum value of (k + m)?
ResrsT § aty & 3fFaw A= & Qv .
TRy . IR FEAT 54k31m82, 11 ¥ fweT & ar
(7x +2y) FT AT AT |

a) 19 b) 23 c) 27 d) 15 (k +m) T AUFIH AT AT FI?
a)23 b) 13 c) 12 d) 11

142.If a 11 digit number 5y5884805x6 is

divisible by 72, where x = y, then the value of 147. If the number A9257B684 is divisible by 11,

then what is the least value of A-B?

JXxyis .
: . HEAT A9257B684, 11 ¥ fassw g ot
F 1137 FEAT 5y5884805x6, IR 72 e T ®
A-B &1 FqeIH AT FAT GHIT?

¥ Rueg § 3R x=y 8@ Jxy® A=

a)14 b)3 c)o d) -8
&
a)\V7 b) 3 c)7 d) 2/7 148. Let ‘N’ be a six-digit number such that it does
not change even if the digits are reversed. Then
143. If the 9—-digit number 72x8431y4 is divisible N must be divisible by:
by 36, what is the value of (———) for the N: 3R Y o V) e § fous 3
smallest possible value of y, given that x and y F 3¢ FA A fowa W 8t 9 &A1 Fgard!
are natural numbers? Fl?l’ a. | N frEd Reanfarg & seee
I TH 9 HPT EAT 72x8431y4, 36 | 2)6 b) 8 09 d) 11

fosw &, x 3R y uea F&W A v H

T B AT & fv (___) g 149. If the nine-digit number ‘8475639AB’ is
divisible by 99, then what is the value of A and

gem? B?
a)1§ b)Z% c)1§ d)zl"_o gfe At 3 arell AEAT ‘8475639AB%, 99 T
fassw &, A3k BT AT AT Y
144. Find the sum of all the possible values of a)A =4,B =6
(a+b), so that the number 4a067b is b)A = 5,B = 3
divisible by 11. c)A=3B =09
(a+b) & ¥t WA AT FT INTEA djA =4 B=8

AT Y, X GEAT4a067b, 11 F fAsmsT
150. If a 9-digit number 609a5b9c9 is divisible by

8l 99, then (a + b + ¢) is equal to:

aji1  b)16 c)21 d)s IRy 0-3r%1 A TH FEAT 609a5b9¢9, 99 A
145. Find the greatest value of b so that farew 8, (a+btoFaAam &

30a68b (a > b) is divisible by 11. T ¢

B & 3¥eaw #AA AG N, U a) 16 b) 7 c) 26 d) 25

30a68b (a > b) €EAT, 11 ¥ fas=T &)

151. If the number 48k2048p6 is divisible by 99,

a)3 b) 6 c)9 d)4 then (k X p) is equal to:
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If& 48k2048p6 T VHY WEAT § ST 99 A

s &, (k x p) &1 AT F471 gm?
a)2 b) 6 c) 4 d)o

152. If the 9-digit number 4x92y6588 is exactly
divisible by 99 (x + y < 10), then what is the
value of 2(y — x)?

Iy 93w M HEAT 4x92y6588 99
(x+y<10) ¥ qoie: fasrmsw & @Y 2(y -

x) T AT F4T &2
a)—-2  b)-1 )2 d)1

153. If the 9-digit number 957x5y62z2 is divisible
by 33, then the sum of all the possible values of
(x+y+2z)

Ifg 9 T A TEAT 957x5y6z2, 33
RoasT & ar (x+y+2) & it wsRa
AT ST AT F4T gEM?

a) 24 b) 39 c) 15 d) 2

154. If the number 476**0 is divisible by both 3
and 11, then in the hundredth and tenth
places, the non-zero digits are, respectively:

Ife ¥&ar 476**0 , 3 IR 11 q= @
Rarsa & ar d+3 3k 2@ & s Ty
W, - 47T I3F FAA: FAT FAN

a)2and 3 b) 3 and 2
c)5and 8 d) 8 and 5

155. How many five-digit numbers of the form
XXYXX is/are divisible by 33?

XXYXX & T &Y qI 3! T fhds g&qmnw

33 ¥ Ranfaa adh &2

a)l b)3 c)5 d) Infinite

156. If the nine-digit number 7p5964q28 is
completely divisible by 88, what is the value of
(p? — q), for the largest value of g, where p
and q are natural numbers?

gfy at-3r% gl @EAT 7p5964428, 88 |
yoia: e 8, dtq & 3fwas 7= &
T, (p2 — q) FT AT AT F, T&T p A g
upfas HEa |

a) 81 b) 9 c)o d) 72

157. If the 8-digit number 7x5739y2 is divisible
by 88, then the largest possible value of (4x +

3y)is:
gfe 8-3id Y FEAT 7x5739y2, 88 W
s 8, @Y (4x + 3y) T GaQ 51 gHIfAT

A AT HST)

a) 39 b) 51 c) 23 d) 63

158. If a 10 digit number 2094x843y2 is divisible
by 88, then the value of (5x — 7y) for the
largest possible value of x, is:

I 10 3 A TF TEAT 2094x843y2,
88 ¥ fasrsw &, Y x & 3Wwaw wwg

A F QT (5x —7y) FT AT :
a)3 b) 5 c)2 d)6

159. Find the least value of (4 + B) if the number
27B58A4 is completely divisible by 88.

afy @& 27B5844, 88 g@RT YUd:
fsrsw &, @ (4 + B) & FgAGH A AT

S|
a)5 b) 2 c)4 d)7

160. What are the values of R and M, respectively,
if the given number is perfectly divisible by 16
and11?
34R05030M6

g & Y @Ewm 16 AR 11 ¥ goien

s &, aY R3T MF AT FAM: FAT B2

34R05030M6
a)4and 6
c)5and5

b) 7 and 5
d)5and 7
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161. If the 5-digit number 688xYy is divisible by 3,
7 and 11, then what is the value of (5x + 3y)?

IfE 5-37% drell HEAT 688xy, 3,731 11 &

fors &, A (5x + 3y) FT1 AT AT R
a) 39 b) 36 c) 43 d) 38

167. If the 7-digit number x8942y4 is divisible by
56, what is the value of (x? + y) for the largest
value of y, where x and y are natural numbers?

I x8942y4 UH VHY 7 A Y wEAT ¥
St 56 @ RasT &, y & §a@ 98 AA
F AT (2 +y) F71 AT F1 &2 ST x 3R
y 9iHd W& §?

a)33  b)44 ¢) 55 d) 70

162. If the 5-digit number 676xYy is divisible by 3,
7 and 11, then what is the value of (3x — 5y)?

IfE 5-3rF arell H&AT 676xy,3,731R11 |
s &, Y (3x — 5y) &1 AT AT A
a) 10 b) 7 9  d)11

168. The six-digit number 537xy5 is divisible by
125. How many such six-digit numbers are
there?

©F 3% drell &AT 537xy5, 125 ¥ R{smsy
t| X o 3 ardl fhae FEav § 2
a)4 b) 2 c)3 d)5

163. If the six-digit number 5z3x4y is divisible by
7, 11 and 13, then what is the value of
(x+y—2)

I & (& arel §E&AT 5z3x4y 7,11 3k
13 @ RAosT 8, (x+y—2) T A AT 169 1f ‘0’ is a natural number, then (7a? + 7a) is
q,—1‘-| always divisible by:

a) 4 b) 5 c)3 d)6 IfE 'a' TF WIFT WEAT B, @ (7a’ + 7a)

sH ¥ 59 e @ udg Rasa &2

a) 7 and 14 both b) 7 only

c) 14 only d) 21 only

164. The number 823p2q is exactly divisible by 7,
11 and 13. What is the value of (p — q)?

HEAT 823p2q,7,11 313 F qoia: Remsw

gl (p—q) & AW AF F
a)8 b) 5 c)11 d)3

170. The largest natural number which divides
every natural number of the form (n3-—
n)(n—2), where n is a natural number
greater than 2, is

(*-n)(n-2), J& n, 2 ¥ T FY
UAITE ¢, F TFR A TodF UAuiE A

165. A six-digit number of the form ababab is
always divisible by:

ababab & T H TE-3HI T FE&IAT gAT

_ ¥ RwsT e ) ST #a aTel JeaA UAqUITR FieT @1
a) 11111 b) 10001 2
¢) 11001 d) 10101

a)6 b) 12 c) 24 d) 48

166. If the number 732xy is divisible by 70, then

ty 171. If n is whole number greater than 1, then
find the minimum value of 5

n?(n? — 1) is always divisible by

gfg 732xy wH VHY wEwm g S 70 @
fersa & @t 22 &1 wgeaw AW A

fifaT|
a) 2 b) 1 )0 d) 3

I n wH qoF wEwr 1 @ I g oar
n?(n? - 1) ¥ g€ & garT "ea fasT
5

a) 12 b) 24 c) 48 d) 60
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172. The sum of 3-digit numbers abc, cab and

bca is not divisible by :
3-3(& drell HEATAT abc, cab 3R beca F1
AT q s 78 8

a) 37 b) 3 c)31 da+b+c

173. If the sum of the digits of a three digit number

is subtracted from that number, then it will
always be divisible by

Rt e 3Rl i TEAT FY 3WF AT F "ger

fear STw At ag Wi & R R gt 2
b) 9 only
d) all of 3, 6 and 9

a) 3 only
c) both3 and 9

177. Find the greatest number 234a5b, which is

divisible by 22, but NOT divisible by 5.
99 99 §EAT 234a5b AT HfST, I 22

o fQursya & dfea 5 @ fQursT 781 &)

a) 234058 b) 234850
c) 234652 d) 234751

178. Find the greatest number 23a68b, which is

divisible by 3 but NOT divisible by 9.
98 99 931 &A1 23a68b AT ST, Y

3 ¥ Rsa g afea 9 ¥ Remrsa a8 8

a) 238689 b) 239685
c) 239688 d) 237687

174. A six-digit number is divisible by 198. If the
digits are rearranged, even then the number

179. The number 2143251 is divisible by:
TEAT 2143251 faFT & ¥ oy Rusw

will be divisible by: &
TH I Y FEAT 198 ¥ R '
Bfg ' ¥ e & a)7 b) 17 c) 13 d)3
afe 3wl F qaedaftya fFar Srar g @
Y FeaT Fad [T i 180. A number is formed by writing the 1st 35

natural numbers side by side. Find the
remainder when it is divided by 4.

U TEAT ), 35 TEABT H IFTA-aTel
fE & 11T AT I U 4 @ AT o=

IR, df AP FAT 82
a)l b) 2 c)3 d) none

a)3 b)6 c)2 d) 66

175. A six-digit number is divisible by 198. If the
digits are reversed, even then the number will
be divisible by:

TH BF 3 1 T&a1 198 ¥ RQarsa &
IfE 3l & Idae A I, @ M wEd

fFraa femsT g 181. A .100-digit number is formed by writing
a) 9 only b) 11 only natural numbers side by side starting from 1.
¢) Both 9 and 11 d) 198 Find the remainder when this number is

divided by 8.

19 YE T YHids TEAI3T H1 re-aqarer
@ FT TF 100 3FH i FTE&AT T AT
gl 99 30 8 ¥ 9T AT S A Avha

176. Find the value of k in the number 3426k if
the number is divisible by 6 but NOT divisible
by 5.

HEAT 3426k H k T AT A HAC, I

. T o
T&aT6 ¥ fAursw & dfda 5 @ Rrsw
X a)3 b) 4 )5 d)1
C
a)4 b) 6 c)3 d9 182. What is the sum of all the possible values of k

for which a seven-digit number 23k567k is
divisible by 3?
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K & 37 g3t wsmfRa A&t &1 aer frgen
23k567k, 3 ¥ QAT 8P

a) 15 b) 3 c) 109 d) 16

183. What is the value of k such that number
72k460k is divisible by 6?

k ST 98 AT AT S & TE&AT 72k460k,
6 ¥ fQursT a1 s
a)4 b) 7 c)9 d) 8

184. If the number 87m6203m is divisible by 6 then
find the sum of all possible values of 'm’.

Ife HEAT87m6203m 6 & AN &, al 'm’
& gt gafaa A F1 AwT AT
a) 10 b) 20 c) 16 d) 15

185. If the number 34k56k is divisible by 6, then
what will be largest value of k?

I GEAT34k56k, 6 ¥ Q=T &, Y k &7

9 931 AT Hdaar gem?
a)6 b) 8 c)9 d) 4

186. If the number 8764 x5 is divisible by 9, then
find the least possible value of x where x is a
two-digit number.

afg 8764x5 uw UVHl WEAT § St 9 &
e 8 a x &1 FgaaA wafaa A

AT FIFT, ST x &Y 3T HY FE&AT
a)15  b)06 c) 14 d) 18

187. what is the product of the largest and the
smallest possible values of m for which a
number 5m83m4m1 is divisible by 9?

m& Fak 72 3R W o wnla A

F AU AT W, Owd v wEwr
5m83m4m1,9 ¥ faasa &2
a) 80 b) 10 c) 40 d) 16

188. If 8947A56B1 is divisible by 9, where B is an
odd number. Find the sum of all possible value
of A?

3P 8947A456B1, 9 ¥ faarsa &, <& B
T Qud FE&ar g A & wst gafaa A=Y

HT T ATT FA?

a) 26 b) 27 c) 30 d) 36

189. If a nine-digit number 1263487xYy is divisible
by both 8 and 5, then the greatest possible
values of x and y, respectively, are:

gfy &t 3 arell F&AT 1263487xy, 83X
5 gl & faseg &, af AT xRy F a3
¥ 93 AT AT AT F

a)6and 0 b)6and5
c)2and 0 d)2and5

190. n = 475AB is a positive integer whose tens
and units digits are A and B, respectively. If n is
divisible by 5, 8 and 9, then what is (104 +
B)?

n =475AB Y<IcAE qUITE g, fora% o818
IR sHE & 3% wAA: AR BEI IR n,
583 9 & Rursw & a (104 + B) Fr
AT AT H|
a) 20 b)60 ¢)35 d)15

191. Find the greatest possible value of (a + b) for
which the 8-digit number 143b203a is

divisible by 15.
(a+b) &1 FWFaA WHT A Ad Y,
s v 8-37f I §&EAT 143b203a, T

15 ¥ RQsms 2|

a)16 b) 15 c)14 d)17

192. A four-digit pin, say abcd, of a lock has
different non-zero digits. The digits satisfy b =
2a,c = 2b,d = 2c. The pin is divisible

by
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TS dlel T IR 3! ardT [T g, AT ST
abcd, 3R AR 3 HAA-3T TF R-L

81 3F =2a,c=2b,d = 2c. N HIC FQ
JREC) ¥ fsrsw 31

a)2,3,5 b)2,3,7

c)2,3,13 d)2,3,11

193. If the number 670458x95y52 is divisible by
144, then find the value of ,/2x + 3y for the
maximum value of x.

IfE 670458x95y52 WEAT 144 ¥ fasnfaa
gt & @t x & 3Rwaw #Aw F v

J2x + 3y & AT AT F|

a)\V7 b) V29 )33 d)V13

194.If p & q are the digits of the number
3479p25g2 such that the number is exactly
divisible by 24, then which of the following
cannot be the value of pq?

I HEAT 3479p25q2, TR pd q QY 3+
g 24 ¥ qft aE fenfaa & ot & ot
e & @ FlTAT pg FT AT TE g 2
a) 63 b) 9 c) 10 d) 45

195. What is the remainder if 17%% — 1126 js

divided by 42?

1726 — 1126 &Y 42 ¥ QAT FE W AT
q&IT AT FY |
a)o b) 1 c)13 d) 14

196. What is the remainder when we divide 57° +
770 by 74?

FTERH 50+ 70 74 A AT X & a@F
AN FAT gaT 82
a)7 b) 1 c)0 d)5

197. For every positive integer n, 54" — 4" is
divisible by:

A% UedlcH® Ui n & faT, 540 —44n

fasnfara g -

a)9 b) 41 c)369 d)All the above

198. The expression 2" — 42", where n is a
natural number is always divisible by

o 20— 42", A n & yfaw
EAT 3, ghem fred faenfara geme

a) 15 b) 18 c) 36 d) 48

199. (68)™ + 1 is exactly divisible by 23 when n
is?
(68)" + 1, 23 fAursw ¢ Iy n:

b) Odd number

d) Only prime number

a) Any natural number
c) Even number

200. One of the factors of (8%F + 5%¥), where k is
an odd number, is:

(8% +5%K) &1 UF IUAES, @ k TH
favar e
a) 86 b) 88 c) 84 d) 89

201. N = 248 — 1 and N is exactly divisible by two
numbers between 60 and 70. What is the sum
of those two numbers ?

=28 _1d4T N, 60 U170 & o= or
e & qia nfoa §) 39 wemnst &

grer &7 22
a) 128 b) 256 ¢) 64 d) 512
202. 218 — 1 is divisible by:
-1 fFEa fasT &
a)11 b) 17 c)13 d)7
203.Find the remainder when 1115+

1215 + 1315 + 1415 js divided by 50?
JE 115+ 1215+ 1315+ 145®% 50 &

Ranfaa frar smar & aY QW Far < 2
a)o b)1 c)24 d) 26




(B) coaching center Download the App now & get: et
X
=  The Best Paid courses in affordable price with QRPs (Only courses with QRPs) @_‘fﬁi’lﬂ@
=  FREE structure PYQs (All previous year papers at one place in structure way) "#.. ' f-ﬂ.‘_
= FREE VOCAB quizzes (Vocab BOOSTER to boost your vocab) I?E-' | )]
ByBhutesh Sin ier = FREE MOCK TESTs (Free full mock tests & sectional mock tests) S : = 4
3 times CGL selected - FREE MONTHLY CURRENT AFFAIRS PDFs with quizzes (Quiz is the best format to remember any thing) oddeBas.

204. Which of the following statement(s) is/are

TRUE?

L 199429 +3%9 4+ 499 £ 59 js exactly
divisible by 5.

.31 > 171

Arfaf@d & ¥ ST /A F99 7 2/?
l. 199+299+399+4—99+599, 5 @' Tﬂ?l'

fasnfara 8|

n.3111 > 1714

a)Only | b) only I

c) Neither I nor Il d) Both I and Il

205. 239 + 249 + 252 + 267 is divisible by:

23% +24% + 2524+ 26° f T & ¥ frEW
aeg ¢ 2

a) 4 but not by 49

b) 49 but not by 4

c) both 4 and 49
d) neither by 4 nor by 49

206. 1315-715_ 615 s always divisible by:

1315-715_ 615 fAfaa w7 & fsnfoa § -
1)6 2)7 3) 13  4) All the above

207. Given a number, N = 55° + 175-725, then

which of the following is true?
& T HEAT, N=555+175-725 &

farfaf@a & @ sl wmaw B2

a) N is divisible by both 7 and 13
b) N is divisible by both 3 and 17
c) N is divisible by 17 but not 3

d) N is divisible by 11 but not 17

208. A number 416 + 1 is divisible by x. Which

among the following is also divisible by x?
TH TEAT 416 + 1, x ¥ farsw &

fafafag sla-dt e it x & Qs
¥

a)4% +1 b) 432 +1

c)4® +1 d)4*® + 1

209. Given that 22° + 1 is completely divisible by

a whole number. Which of the following is
completely divisible by the same number?

o aar & & 220 + 1, Rl ot wer @
yota: Rerea 81 A & @ sl @ @
34 WA @ Ui e g
a)21 +1 b) 5 x 230
)20 +1 d) 290 +1

210. (31%° — 1024) is not divisible by:

(312° — 1024) fFaw Renfara g gar &2
a)137 b)107 ¢)9 d)32

211. Which of the following statement(s) is/are

TRUE?

I. Highest common factor of (32°°2 — 1) and
(32992 4 1) is4

1. (4%* — 1) is exactly divisible by 5.
Rfaf@a & ¥ sla - a9 Fa9 g
ere?

I (32002 _1) GUT (32002 + 1) T HAgAH
FAYGAF 4 B

I (4% —1), 5 ¥ qoia Renfaa 8

a)Only | b) only Il
c) Neither I nor Il d) Bothland Il

212. The sum of digits of a two digit number is 10.

The number formed by reversing the digits is 18
less than the original number. Find the original
number.

TH AP AT F R 1 A9T 10 F
3 HEAT & P & T H WER TG
¥ gIed g §EAr, HF 9Edr § 18 FA R
ar g "@EAr AT ffo

a)8l  b)46 c) 64 d) 60
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213. How many two digit numbers increases by 27

by reversing the digits?

ar 3t fr WA Frael weAnt § e st

F 3¢ FH A @ W T 27 98 SAwEAR?
a)5 b) 6 c)7 d) 8

214. If the digits in the unit’s and ten’s places of a

three digit number are interchanged, a new
number is formed, which is greater than the
original number by 63. Suppose the digit in the
unit place of the original number be x. Then, all
the possible values of x are

S I P I TEAT H FFE AR qES
& P P TR deoa W IIoT §§ T,
St Y AT §EAT & 63 ST §1 AW F
@WWW@'H‘X'HT,‘X'*W
TR AT AT i

a)7,8,9 b)2,7,9
c)o,1,2 d1,28

215. A certain number of two digits is three times

the sum of its digits. If 45 be added to it, the
digits are reversed. The number is

wF A faRea wewr, 3@ e &
Pl F AT FT AT o g1 AR 3WA 45
ST S Y F&AT & 3iF WER d A

¥ @& A S
a) 72 b) 32 c) 27 d) 23

216. If the digit of a two digit number is reversed,

then the number is decreased by 36. Which of
the following is correct regarding the number?
I. The difference of the digits is 4.

Il. The value of number can be 84

lll. Number is always a composite number.

Iy & M gl TF FEAT F HA A
FewiAd F A1 S, @Y §EAT 36 FH @
ST ¥ FEAT & Weed H ArfRf@a A @
HiT AT FYT T

. 37 &T T 4 2|
Il. AT 84 & FhdY &)

. T&IAT T THh HIsT TE&AT g

a)l, lland Il b) lland lll
c)landlll d)land Il

217. In a two-digit number, its units digit exceeds

its tens digit by 2 and that the product of the
given number and the sum of its digits is equal
to 460. The number is:

gl 3FI el TH HEAT H, SHF SHES &I
PSP BEFIF T2 3OF 3R
IS FEAT AR $HSF I F AT FT AOTGA

460 ¥| 9% T&AT AT PfAT|
a)64  b)36 )48 d) 46

218. A number consists of two digits. If the number

formed by interchanging the digits is added to
the original number, the resulting number
must be divisible by

UF TEAT NPT g HEAT F AHFH H
IR §ged T 9Td §§ 6EA F AN
&I ¥ S 9 ST §E&AT 9Ied g6, ar

FEa Qafaa gl
a)11 b)9 c)5 d)3

219. The sum of two digit number and the number

obtained by reversing its digits is a square
number. How many such numbers are there?

UF AR WEAT 3N wEA F IHH A
TER FEelel W UIST §§ TEIT &1 A9
Tt W& &1 Y fRae wEa @

a)5 b) 6 )7 d) 8

220. Let ab, a # b, is a 2-digit prime number such

that ba is also a prime number. The sum of all
such numbers is:

AT NST F ab, a=b, 2 HHF areld
HATST TEAT 50 YFR & T ba Y 3957
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g | 0l wsft e &1 A d AT
ffaT|
a) 407 b) 396 c) 374 d) 418

221. The age of a woman is a two-digit integer. On

reversing this integer, the new integer is the
age of her husband who is elder to her. The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages?

v AfFET Y Y A HHl F UF OITF B
3 qUITH & 3HPI HT T dee & G, AT
qoite 3wd afey, st fr se@ @3 € it arg
o ST §| AR HY FT AW, IAH 3T
¥ AT FT TAReAT FEwT 8| 3ah 3y
T 3T 4T 82

a)8yr b)9yr c¢)10yr d)1lyr

222. When a two-digit number is multiplied by the

sum of its digits, the product is 424. When the
number obtained by interchanging its digits is
multiplied by the sum of the digits, the result is
280. The sum of the digits of the given number
is:

ST a1 WPl Y &I Y 3qS JH & T
¥ qon fRar St @ 424 W @ Bl
SI9 3P HI FACH Yo HEAT A IHl &
A & Ion A1 Srar @, o aRomr 280

Aar &1 T aIv §&Ar & 3 w1 AT
a) 7 b) 6 c)8 d)9

223. A three-digit number is divisible by 11 and

has its digit in the unit’s place equal to 1. The
number is 297 more than the number
obtained by reversing the digit. What is the
number?

T 3F Y TE e 11 ¥ dew § 3R
SFE F TU W 3T 3F 1 §| 98 &

39 3Pl P 3oIC gof YT gefet dTell FTE&AT A

297 30« §| ag g&Tr #41 §?
a)121  b)231 ¢)561 d)451

224.In a three digit number the digit at the

hundreds place is two times the digit at the
units place and the sum of the digits is 18. If the
digits are reversed, the number is reduced by
396. The difference of the hundreds and tens
digit of the number is

TF i AT F gEAr H, dFsr U F
IF FHE TIW & 3HF HT QAN § Ul
311 FT AWT 18 §1 I 3l FY WER qq
far s &t , Her wEAr 396 F FA g AT
g1 ar AFsr AR TETE T F A F AN

AT o
a)1 b) 2 )3 d)5

225. M is a three digit number such that the tens

digit is twice to that of units digit and the
hundreds digit is twice to that of tens digit. If N
is another number obtained by reversing the
digits of M. Then M-N is always divisible by:

M e 3l Y e § Swer g 3w
FH1S 3F W AWAT & T HhsT 3T <18 IHF
¥ ENET § 1 MF 3 Y 3o A A fwa
9T S HEAT doid § 9§ N | M- NgRem
HST ¢ -

a) 101 b) 297 c) 420 d) 594

226. There is a number consisting of two digits, the

digit in the units place is twice that in the tens
place and if 2 be subtracted from the sum of
the digits, the difference is equal to 1/6th of
the number. The number is

ar 3H N TF TEAT §| FHHT FHS T
FT 3F GgI§ FUT & 3 T AN[AT | 3R
P F AE H T 2 °eT AT A a4« areil
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WEAT & € WEAT FT 1/6aT AT §| §&AT 9! fY SHE HF AT H:
udr WI a)9 b)0 c)2 d) 8
a) 26 b) 25 c)24 d) 23
231. What is the last digit of 2! + 31 + 4! + ... + 90!?
227. The sum of the digits of a two-digit number is 21+31+41+...+90! FT AN 3F AT F
% of the number. The units digit is 4 less than a) 2 b) 3 )4 d) 6

the tens digit. If the number obtained on
reversing its digits is divided by 7, the
remainder will be:

&Y 3 A T F HA F AT, FEA H AR 433 x 456 X 43N FT THE HF (N+2)
~ | 59 3% TETs ST @ 4 FA Y AN 2, NET AT FqT 2

232. If the unit digit of 433 X 456 X 43N is (N+2).
Then what is the value of N?

A~ | a)1l b) 8 c)3 d)6
Pl H gAcd U YIod HEAT H 7 @
fFanfaa fFam =, ar 9w gem: 233. All odd prime numbers up to 110 are
a)4 b) 5 )1 d)6 multiplied together. What is the unit digit in
this product?
228. Let d be a two digit number. If half of d 110 d% 1 Tt QAW 3rseT eIt A
exceeds one third of d by the sum of digits in, TF WY IO frar ST $ IUTTES ¥

d, then the sum of digits in d is ;
AT 5 d T gREET e ) AR d @ R F (I 52

P W—m ST W dF s a)o b)3 c) 5 d) None of the above
F AT F TR, SAGT g a6 d F HH FT 234. Find the 123™ number of the sequence a, b, e,

QT AT Ao k,a, b, ek a.... |
a) 6 b) 8 c)9 d) 15 IHTHA a, b, ek a, b, ek a..... &T 1234aT
g AT |
229. A number consists of two digits and the digit a)a b) b e d) k

in ten’s place exceeds that in unit’s place by 5.

If 5 times the sum of the digits be subtracted 235 What is the 72" number in the following
from the number, the digits of the number are sequence 3,2,1,8,4,3,2,1,8,4,3,..
reversed. Then the sum of the digits of the
number is.

TH &I Q) AT § IR gE I, T 8 e Ry |

. e . a)3 b) 2 1 d) 8
3% ¥ 5 ST g1 I 3 F Ier FT 9T

U;I;ﬁ‘ F 3 AT ¥ 9T ST dY H&AT & 236. The 50" number of the sequence 3,7, 2, 3, 7,

3H WER e oS &1 A §EAT F I 2,3,7.. .
HHH 3,7,2,3,7,2,3,7... F 5091 GG A
ST AT AT HIf: N

a)11  b)7 c)9 d) 13 # |
a)3 b) 2 c)7 d) Can’t say

ITHHA 3,2,1,8,4,3,2,1,8,4,3,.. F 724t

230. Find the unit digit of 9!.
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HTHA 1,8,1,8, 1,8, Lueeeeerrsnrnn FT 149a1
g AT FY |

a)l b) 8

c) None of these d) Can’t say

238. Unit digit of 21691793 x 615317 x 132491 js
21691793 x 615317 x 132491 fY SHIS 3IH

AT oA
a)5 b) 0 )8 d) 9

239. Find the unit digit of 2641°% + 2641%3
264192 4 264103 fy FHS 3HF AT FIfAA:

a)o b) 2 c4 d)6
240. Let x = (633)%* — (277)38 + (266)%.

What is the units digit of x?

IR x = (633)24 — (277)38 + (266)* @, ar

x T SHIS 3H FAT &2

a)7 b) 6 4 d)8
241. If  x = (164)1°° + (333)337 — (727)72,

then what is the units digit of x?
Ifg x = (164)1%9 + (333)337 —
ar X &1 SHIS 3F FIAT &2

a)5 b) 7 c)8 d)9

(727)7% §,

242. What is the unit digit of
(819)%%7 x (414)%%* x (342)8127
(217)*13 x (819)%47 x (414)624 x (342)812

FT SHIS 3H 4T &2
a) 2 b) 4 c)6 d) 8

(217)*13 x

243. The last digit of 17" is 3. Then which of the
following cannot be the value of n?

17"#w A IF 3T 1A AT HF @
Fld! T&IAT n FT AT A& @ FGHdr?
a) 51 b) 55 c) 63 d) 77

244, Let p be a two digit integer such that the last
digit of 127 is 8. How many values p can take?

p U & AP & qUITEH 3 TR 7 fF 127
&1 3fAT 3% 8 &1 pF fhast AR & Thd
1

a) 19 b) 20

c) 21 d) 23

245. The right most nonzero digit of 12020 is
120%5° &1 g% 3N § ggal YA -
a)2 b) 4 c)6 d) 8

246. The right most non zero digit of 20%° x 14072
is:
2050 X 14050 &T E§ AR ¥ Ggal YAR
3F -
a)4 b) 6 c)2 d)8

247. Find the right most nonzero digit of 130180 +
180130,

130180 + 180130
YT HF -
a)4 b) 1 c)5 d)3

® g A T Ugar

248. What is the right most non zero digit of
230170 _ 80100?

23070 — 80'%° T ¥ AR F YgeT AN
IF -
a)9 b) 3 )4 d) 6

249. What is the unit digit of 97323%' x 234°73"?
973234 x 234°73' FT SHIE 3iF FIAT &?
a) 2 b) 6 c)7 d)9

250. What is the unit digitof 15 + 25+ 35+ ... +
2057
1° 4+ 25435 +... 4+ 20° HT SHIS HF FAT
s
a)0 b) 5 c)2 d) 4
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251. If n is a positive integer, then what is the digit 256. A number when divided by 18 leaves a
in the unit place of 32"*1 4 22n+17 remainder 7. The same number when divided
Ife n TF 4T qUTF %' ar 32n+1 4 220+l g by 12 leaves a remainder n. How many values

. can n take?
SHIE TUT & 3(F F4T 2

TH TEAT H 18 ¥ ffead @ W 7
AYFS I9dT &1 39 §&T F 12 ¥ RQanfoa

252. A number being divided by 52 gives a FIA W AYHSA n 94T ¢l N & fFrdsr AT
remainder 45. If the number is divided by 13,
Y g & &2

the remainder will be?
THh TEAT H 52 T HWT e WX 45 AVGA a) 2 b) 0 c)1 d) can’t say

W I ¢ I 39 gE&am # 13-/ AW 257. When two numbers are separately divided by

AT ™ ar AP FAT ?I'JTI'? 33, the remainders are 21 and 28 respectively,
if the sum of two numbers is divided by 33, the

a)o b) 3 c)5 d)7

a)o b) 9 c)6 d)7
remainder will be
253. A number when divided by 899 gives a al WEATHT FY AT e 33 F HT AR
remainder 63. If the same number is divided by W, ANFa FAHLT: 21 3T 28 §, IT &t
29, tth remainder will be: . st & 29T F 33 § 5T R ElTﬂ',Eﬁ
TF HEAT F 899 ¥ HIT & W AYHA 63 o U
. : R AT :
& %I I sh 20 W #TT a) 16 b)7 c) 49 d) can’t say
S al G FAT ERIM?
a) 10 b) 5 c)a d) 2 258. Find the remainder when (1007 + 1008 +
1009 + 1010) is divided by 6.
254. A number when divided by 25 leaves 14 9 (1007 + 1008 + 1009 + 1010) & 6

remainder. What is the remainder if this
?
number is divided by 10? ¥ AT QAT S A ANGS FAT g

. 0 b)1 2 d)3

e dEar # 25 ¥ Rafaa w3 9w 14 ) ) ‘) )

dY §9aT Bl IR FH FEAT F 10 / - 259 1f two numbers are divided by the same

anfora fFar S at A9y 47 g9 divider, the remainders are respectively 3 and

a) 4 b) 6 08 d) can’t say 4. If the sum of the two numbers be divided by
the same divisor, the remainder is 2. The

255. A number when divided by 12 leaves 5 dficor is \ )
remainder. What is the remainder if square of Ife &Y FEAENT F TH @ ASE @ HET
this number is divided by 8? T J A, ar AYEAT FAA: 3 3HT 4 greT

fFd gear F1 12 ¥ R{nfoa & W 5 A ¥ IRy O wEant ¥ @ @ 36
AV AT | IR W HEA F IA A 8 W qToTR @ AT R S ar e 2 e

fenfaa fFar ST ar +=ar AT e X ¥ ar oo Ag AR

a)7 b)1 c)5 d) can’t say a)9 b) 7 c)5 d)3
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260. The remainder when 75 X 73 X 78 X 76 is
divided by 34 is:

75x 73 x 78 x 76 ® 34 ¥ RQafaa &=

9 9Icd NG AT FL |

a) 15 b) 18 c) 22 d) 12

261. Find the last two digits of 12899 X 96 X
997.

12899 x 96 x 997 & 3faw & 33+ AT

ffav]

a) 88 b) 78 c) 18 d) 48
262. Find the last two digits of 98 x 17373 X

153 X 96 x 127.
98 x 17373 x 153 x 96 x 127 & 3faeA @

IH AT Hifaw)
a) 34 b) 64 c)24 d) 04
263. A number when divided by 6 leaves

remainder 3. When the square of same humber
is divided by 6, the remainder is

Th TEAT § 6 F AT 3 WX A6 3
WA 8 o« 38 F€AT F T Y 6 F HT

T =T ar AYET AT PSR
a)o b) 1 c)2 d)3

264. When positive numbers x, yand z are
divided by 31, the remainders are 17, 24 and
27, respectively. When (4x- 2y + 3z)is
divided by 31, the remainder will be:

¥ YATcHS WEAT x,y 3 z # 31 @
fenfora frar smar &, af da: 17, 243K
27 BT urcd @A @ I«
(4x- 2y + 3z2)& 31 & Renfoa frar

1T &, Y ucd ANGT AT HifAT|
a) 19 b) 16 c)9 d) 8

265. Let ‘@’, ‘b’, ‘'c’ be three integers which give 3,
4 and 8 remainders respectively when divided

by 45. What is the remainder if 3a? + 5b + ¢3
is divided by 15?

a, b,c?ﬁﬂ'qy‘i?%ﬁlﬁ'm45'\ﬁ'
e fFar ST @Y FHA:3, 49 8 AW
a9dr g1 3a2+5b+c3H 15 ¥ fnfaa

F 9T AV TR AT F]?

a)o b) 4 c)5 d) 10

266.If a number is divided by 129 leaves
remainder 27, if 4 times of this number is
divided by 86 then what will be the remainder?

Ife e & F 129 § HET AT ST
ar AY 27 S9aT §, AR W WEAT F 4 AU
F1 86 ¥ fanfora fFar Jmar & ar dvwe

FIT gIm?

a) 19 b) 22 c) 23 d) 25

267. When a positive integer is divided by d, the
remainder is 15. When ten times of the same
number is divided by d, the remainder is 6. The
least possible value of d is:

Sa et g quiE # JdF o fear
ST ¥, @t AN 15 WIod @i §1 ST 34
HEIT & &8 I 1 dF fenfoa far srar
g, a AYHA 6 GIed FaT g1 d FT wgeTaHT

AT AT A S|

a)9 b) 12 c)16 d) 18

268. When a number N is divided by divisor D, it
leaves a remainder 10 and N? divided by D
leaves remainder 4. How many values of D are
possible?

o9 R F'ar N F s D ¥ fRsnfea
fFar &, 9w 10 sgar § 3k N2 DA
fsnfoa T ST & ot Aw 4 AT & D
& fraat A woT #2

a)5 b) 4 )6 d) 7
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269. If a number ‘N’ divided by a divisor D, of 2-
digits, gives a remainder 68. If 5N is divided by
D, it gives remainder 8, then, find value of D?

Ife @A ‘N F 2-3F B HEE D W
fenfora fFar Smar af A 68 =T §| I
5N &1 ‘D’ @ Renfaa fFar simar &, ar 9w
8 ¥IdT §| D T AT AT FU?

a) 83 b) 68 c)76 d) 85

270. Let x be an odd natural number. If x is divided
by 6, it leaves a remainder y. If yZis divided by
4, it leaves remainder of z. Which of the
following must be true for z?

mﬁ:xwﬁwmm%laﬁ
X®H 6 F HEr f&ar ar ar dved y ured
gIm ARG y* W 4 @ A e S @
AYES z UTod gaT g1 Prafaf@a § @ sl

a1 RAFeq & fav wdr &2
a)z=3 b)z=5
cz=1 d) z is even

271. Find the remainder: Y FATT FL:

a) 59637 b) 96132
58 97
181753 2571008
182 64
471344 f 4941391396137
118 ) 99
784 313131
g)m h)—;
., 1531531153 .\ 8889126
) 154 j) 89

272. Find the remainder: 9Y AT H-Tl'

9178 42007
DT b) =
29120 77100
C) 13 d) 10
1070 268
e) T f) -—
16512 3232
h) —
31 7
549 . 3853
) 126 ryn
5080 2505390
k) —

24 7

3504450 7656
n) —
20 ) 400
9575 323232
18 P 7
1
2423 45
) 2525 r) 1530
q 9 8

273. What is the remainder when 4°° is divided by
6?

40 %) 6 ¥ AT A W AY FAT F9AT
¥

a)2 b) 3 c)a d)o

.
274. What is the last digit of 113196'°°" 7

o § . .
113106"°"" /1 AT 37H-
a)1l b)3 c)7 d)9

275. Find the remainder: Y FATT FL:

72109 54253
b)
37 43
14222 4_4_74—
d)—
23 76
13169 3714-2
f)
49 25
23722 | 24722 913101100
25 101
. . 55552222 4 22225555
276. Find the remainder: - =7?
55552222 + 22225555
AYH AT AT : . =
a)o b)1 c)2 d) 6

277. Find the last 2-digits of : 43362
43362 & fAR & 3% AT P

a)19  b)49 c) 39 d) 59
278. Find the last 3-digits of : 872002

872002 F }fAA 3 3IF AT H|

a) 139 b) 269 )569  d)369

279. Find the last 3 digit of 6325 x 253,
632° x 25%3 & 3IfAA 3 3F AT AT
a) 375 b) 625 c) 125 d) None of these
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280. Find the remainder: 101" + 101°° + 101+ .. .. .......+1010"
AY ATT I F 7 ¥ PuGd A W AYha F41
53110 189158 100100
T
90 91 - )
a)o b)1 c)3 d)4

281. The sum of the digits of a number N is 23. The
remainder when N is divided by 11 is 7. What is
the remainder when N is divided by 33?

el TEAT NF AT FT AT 23 1 NFH
11 @ fRsnfoa &9 W G 7 T9ar §
ST N#F 33 ¥ o fFar sar & ar
AYHT FAT TUAT 8?2
a)7 b) 29

c) 16 d) 13

282. What is the remainderwhen 7 + 77 + 777 +
7777+...... + (till 100 terms) is divided by 8?

T+77+777+7777+...... + (100 QY
d%) & 8 ¥ famfea & W 41 AVGd
ghem?

a)6 b) 0 o1 d)7

283. What is the remainder if 115 +215 +
315 + ..+ 60" is divided by 4?

115 + 2154 3154 4 6015 &Y 4 a
Rnfora &3 9T AW AT g9ar &2

a)o b) 1 c)2 d)3
1 2 3 T, 100
284, 107 +107+10 +1: hi 10 , find Remainder.
111024103 +10% 4-vioernn 100
101+102+10 +160 + +10 FT 9Y 7T Fi |
a)4 b) 1 c)2 d)o

285. Find the remainder if 17 +17%2+
173 + ...... + 17V is divided by 34?

17 +1724+173+ ..... +17V7 & 34 @&

Ranfea & W Ay Ofr AT F:I2?

a)o b) 1 c) 17 d) 33

286. the remainder 100" + 1010° 4
101+, . ......+10°% is divided by 7.

when

287. When a number is successively divided by 3, 4
and 7, the remainder obtained is 2, 3 and 5,
respectively. What will be the remainder when
42 divides the same number?

a9 5t e & FAM: 3,4 3R 7 @
Ranfea fFar arar &, @Y 9w FAM: 2,3
3R 5 urcg B1d &1 99 3EY FEAT A 42 @

fanfara fFar se at yroa Avwd AT F
a) 41 b) 30 c) 29 d) 31

288. A number when successively divided by 4 and
5 leaves a remainder 1 and 4 respectively.
When it is successively divided by 5 and 4 the
respective remainders would be

TH HEAT H AR 4 3R 5 § H91 &
9T VG FAL: 1 3R 4 @ T & I
S dIGR 5 3R 4 ¥ T Iy Sar #

ar AYEA FIT gEM?
a)2and3 b)3 and 2
c)Jdand1 d) can’t say

289. When a number ‘X’ is successively divided by
9,8and 7 it gives remainder 4, 5and
3 respectively. Find that value of X such that it
lies between 5200 and 5400?

ST S EAT X HAF T F 9, 83 7
¥ Reanfaa gt & ar a8 FaAuw 4, 53R
39¥ &t & X &1 Ig AT AT Hfow I

5200 31X 5400 & &7 8
a) 5305 b)5314 ¢)5286 d)none

290. In a division sum, the divisor ‘d’ is 10 times the
quotient ‘g’ and 5 times the remainder ‘r’. If r =
46, the dividend will be
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aeT & fREl v & HIeF (d) HRMSA (q)
¥ 10 oM 3R AV (/5 IO T 1A r=

46 ¢ A HTST FAT BN ?
a)5042 b)5328 c)5336  d) 4276

291. The divisor is 24 times the quotient and 8

times the remainder. If the quotient is 18, then
the dividend is:

HIST® HETHS &I 24 I 3 ANG F1 8

I 31 IR AEThS 18 B, @Y HTeT B
a) 7830 b) 7630 c) 7840 d)7450

292. In division sum, the divisor is 4 times the

quotient and twice the remainder. If a and b
are respectively the divisor and the divided,
then

St AATST & T # Ao, HRTHA &l
IR T[T HR AYES FT SW[AT 7| 39X a 3K

b FHI: HoF R g & ar

4a—a? 4b— Za

a) =3 b)
c)(a+1)2=4b d)

a (a+2)

=4

293. Two positive numbers differ by3951. When

the larger number is divided by the smaller
number, the quotient is 12 and the remainder
is 13. The sum of the digits of the larger
number is:

A UATCHS W& A 3951 FT HAW g
ST 99 &1 @ 8 wEar ¥ fasnfea
e ar &, Y seTee 12 3mar § 3R AW
13 99aT §| 99 TEAT F AP B AT F4qT

g
a)12  b)16 c)18 d) 14

294. Two positive numbers differ by 2001. When

the larger number is divided by the smaller
number, the quotient is 9 and the remainder is
41. The sum of the digits of the larger number
is:

QA UATCHS TEATHT H 2001 &1 I g
T &I F B wEAr ¥ Qwnfaa FE
W ARG 9 3 AT 41 Foar §| 9= FE&ar
F NPT FT AT FAT gIM?

a)15  b) 11 c) 10 d) 14

295. On dividing 8675123 by a certain number,

the quotient is 33611 and the remainder
is 3485. The divisor is

8675123 U& fAfad T&dT # AT S
I HETHA 33611301 AYF 3361 134T4T ¢l

Aol AT HfAT|
a)248 b)538 ¢) 356 d) 258

296. A General of Army wants to form a square

from 36562 soldiers. After arrangement, he
found some soldiers were left. How many
soldiers were left?

T QAT I ol 36562 RATRAY '
ot & cHaRYd HFIAT IEdT §| FA F 06

Fo QU = ¥ Faa R a2
a) 81 b) 36 c) 97 d) 65

297. To get a perfect square, what should the

minimum number be added to 8212.

TF QT g9 gIed F & faw 8212
Aad el gEar gt Je)

a) 123 b)69 112  d)54

298. Let x be the least number which subtracted

from 10424 given a perfect square number.
What is the least number by which x should be
multiplied to get a perfect square?

A x 98 B ¥ B ¥&dT &, 59 10424
# @ oo W U GO q9 §EAT ured gl
t I8 O18 ¥ O & A9 &, o9 o @

IO FI 9T TH QOF T F&AT 9o 8|
a)3 b) 6 c)5 d) 2
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299. How many natural numbers are there

between V261 and V45109?
V261 94T V45109 & ALY fFael Urefds

HEIIT &2
a) 144 b) 196 c) 168 d) 195

300. A toy factory manufactured a batch of

electronic toys. If the toys were packed in
boxes of 115 each, 13 boxes would not be filled
completely. If the Toys were packed in boxes of
65 each, 22 such boxes would not be enough to
pack all of them. Coincidentally, in the end, the
toys were packed in n boxes containing n toys
each, without any remainder. The total
number of toys was

Retr FRER ¥ F5 ReW a@w| IR
Y% diFd A 115 @ @ 93 § ar
13 dfew qf @ 18l R 9| X AF
I # 65 @ @ AT & o 39 a%E
¥ 22 99 @A RS F T &7 U3
IR 3T H o9 IAF 99 H n @A
Y AT A n e U e T | @

T TEIAT T3
a) 1444 b) 1454 c)1424  d)1434

301. The product of two consecutive prime

numbers is 7387. What is the difference of the
two numbers?

al HANIA HAGT HEAAT FT UG
7387 §| 5T et FEATHT 7 fhdr 3aT &2
a) 3 b) 6 c)2 d) 4

302. The square root of which of the following is a

rational number?

famafaf@a & & fraer aeie s oRay

qEAT &2
a) 5535.36 b) 3152.88
c) 72905.2 d) 67508.5

303. The square root of which of the following is a

rational number?

famafaf@a & & frusr aige & aRew

TEAT &2
a) 5823.82 b) 22504.9
c) 2460.14 d) 1489.96

304. The square root of which of the following is a

rational number?

farafaf@a & & frusr aige & aRey

qE 2
a) 1250. 49 b) 6250.49
c) 1354.24 d) 5768.28

305. How many perfect squares less than 10,000

end with 4?

10000 & F# frasr qut Feit & 3ea 7 4
3rar § ?

a)9 b) 18 c)10 d) 20

306. If /N lies between 6 and 7, where N is an

integer then how many values N can take?

Ify YN F equr7 & "ew fRua g 3R
S8l NT&H qUiiF &, @t NF fraa A6 @

THd 2
a) 126 b)127  ¢)128  d)125

307. Sum of two numbers is 40 and their product is

375. What will be the sum of their reciprocals?

al HE&AT3HT &1 AT 40 7 AR IAFT UG

375 81 3% IREINHT FT I FAT gm?
8 1 75 75

308. Two positive integers differ by 8 and their

reciprocals differ by %, then which of the

following can possibly be one of these
integers?
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al UeTcA® YUl FT X 8 § T 3
QREIRFH T HaT 2/45 § Y AT A @
Fladl TE&IAT 3T S TEIEHT A T F 2
a)12 b) 14 c) 16 d) 18

309. The average of the largest and smallest 3 digit
numbers formed by 0, 2 and 4 would be

3iF1 0,2 3R 4 @ 9 arell 3 IFH F TIH
T 3t w9d S et &1 st =4
gem?

a)312  b)213  ¢)222 d)303

310. How many digits in all are required to write
numbers from 1 to 50?

1 & 50 a% fa@a & v Fa fFaa =t

$T TIATFAT 72

a)100 b)92 c) 91 d) 50

311. If the sum of ten different positive integers is
100, then what is the greatest possible number
among these 10 numbers?

afE 10 faffesr gercas getar &1 AT 100
g df 3 10 ¥&AB # §aw = warfad
TEAT FT &2

a) 45 b)91 c)55 d)64

312. Consider the multiplication 999 X abc =
def132 in decimal notation, — where
a, b, c d, e and f are digits. What are the

values of a, b, ¢, d, e and f, respectively?
qUHAT Hhd UYLEfd A IOAGRA 999 X
abc =def132 W R $Hfaw, @l
a,b,c,d,eﬁfﬁ?l a,b,c,d,ei#h’
f & AT FAA: F4qT 2
a)6,6,8 6,8 7 b)8,6,86,7 8
c)6,8,8,7,8 6 d)8,6,88,6,7

313. What are the last three digit of the
multiplication 654321 x 123456?

654321 x 123456 & 3fad i 3F Fa1

&

a) 376 b) 344 «¢) 324 d) 352

314. A student was asked to divide a number by 6
and add 12 to the quotient. He, however, first
added 12 to the number and then divided it by
6, getting 112 as the answer the correct answer

should have been
T O H Th G&AT & 6 § AT 3o 3R

HTETHT & 12 Sgel BT gl AT 3TN gl
& # 12 S R 3y 6 6 & stmer =
ol 3§ I A 112 9rod gel WE W 4
gler TifRw?

a) 124 b) 122 c) 102 d) 114
315. If N=1+11+111+1111+
-+..+111111111, then what is the sum of

the digit’s of N?

afe N=1+11+111+ 1111+
.. 4111111111 & aY N & 37 T F5eT F47
e?

a) 45 b) 18 c) 36 d)5

316. If the sum of the digits of a number 10™ — 1,
where n is a natural number, is equal to 3798,
then what is the value of n?

IfE &AT 10" — 1 & DI T JNETH, STl
n UF Y_qUIF §, 3798 F T §,dl n

FT AT FT &7

a)421 b) 422 c)423 d) 424

317. A woman sells to the first customer half her
stock of apples and half an apple, to the second
customer half an apple and half of her
remaining stock and so also to a third and to a
fourth customer. She finds that she has now 15

apples left. How many had she at first?
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TF IR HIA Tge AEF T AT [T 3R
TF T A A9 §| GEY AXF F TH
e A9 3 ST T & F @ e A9
gt g 3k g we & dwy 3k Gl
IS F 3t g9 T | 3T 37F 9 15
AT ggd § ar gant F g 39 I

frasr @9 ¥

a)125 b)255  c¢)250 d) 155

318. Each member of a club contributes as much
rupees and as much paise as the number of
members of the club. If the total contribution
is Rs. 2525, then the number of members of the
club is

et e & T TEET, FAT F FEEA H
& F GA § T 3§ F1 Qe
ad ¥ 13 Fa AnreE 2525 T9I B aY
FId & HeEAT HY FEAT F4T gl ?

a) 60 b) 45 c) 55 d) 50

319. Natu and Buchku each have certain number
of oranges. Natu says to Buchku, “If you give
me 10 of your orange, | will have twice the
number of oranges left with you”. Buchku
replies, “If you give me 10 of your oranges, | will
have the same number of oranges as left with
you”. What is the number of oranges with Natu
and Buchku, respectively?

a1y AR g9F IAF F IH FE TR T |
AT gIF @ FEal g, I A I Fewdh
#EqH 10 R & Q @ JFeR I e
TR AY 9 TE ¢, 3T A FR A I
g SUA | g 3 a1 ¢, I qH e
i A @ AR 10 IO & & O N 9w
"l Y TE FEAT g v A JEeR 9
AV IF FATC |1y AR FAF F I FAW:
foreret Wt #t weam geh 2

a)50,20 b)70,50 c)20,50 d)50,70

320. The sum of three positive numbers is 18 and
their product is 162. If the sum of two numbers
is equal to the third then the sum of squares of
the numbers is

die eeTcAS wEInsit &1 Ier 18 § 3k
3HT UIARA 162 ¥ 1 e & wEATI &
T AN TEAT F WA @) ar gEansit F
At FT A3 FAT B ?

a)120 b)126 c) 132 d) 138

321. The sum of squares of three positive integers
is 323. If the sum of squares of two numbers is
twice the third, their product is

frelt et uor quifet & et &1 s 323 @
1 i & gEansit & gaf &1 e e g

¥ T g, Al 3T AOAG qABT ?
a) 255 b) 260 c) 265 d) 270
Answer Key

1.C 2.C 3.B 4.C 5.C
6.B 7.D 8.B 9.C 10.D
11.D |12.C 13.D [(14.D |15.D
16.D |17.C 18.C 19.D |20.B
21.D |22.C |23.D |24.D |25.B
26.A [27.B [28.B |29.B |30.D
31.D [(32.B [33.B [34.C |35.D
36.C 37.D (38.B ([39.A |40.C
41.B |42.D |43.C |44.C |45.C
46.B | 47.* 48.C |49.D |50.A
51.D |52.B |53.A |54.D |55.B
56.B | 57.C 58.B |59.A |60.D
61.C 62.C (63.D |64.C |65.D
66. b 67.D |(68.B |69.A |70.B
71.B |72.A |73.D |74.C |75.B
76. C 77.D |78.A |79.C |80.A
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81.D [82.B [83.B [84.C [85.A 246.A | 247.A [248.C [249.B |250.A
86.D |87.C [88.B [89.C |90.B 251.C | 252.C | 253.B | 254.D | 255.B
91.B |92.C |93.B |94.A |95.C 256.A | 257.A | 258.C | 259.C |260.C
96.B |97.B |98.B [99.A |100.D 261.A | 262.D | 263.D | 264.D | 265.B
101.B |102.C | 103.B | 104.A | 105.D 266.B | 267.C | 268.C | 269.A | 270.C
106.D | 107.A | 108.B |109.D | 110.C 271.*% |272.* |273.C |274.A |275.*
111.A [112.C |113.B |114.D | 115.A 276.A | 277.B | 278.C |279.A |280.B
116.C |117.C |118.A |119.B |120.D 281.B | 282.A | 283.A [284.A |285.C
121.C |122.B [123.A [124.C [ 125.A 286.B |287.C | 288.A |289.A |290.C
126.C [127.B [128.C [129.D | 130.C 291.A | 292.D [293.B |294.D |295.D
131.D [132.A [133.C |134.B [135.A 296.A | 297.B |298.C |299.B |300.A
136.B |137.B | 138.B |139.B | 140.A 301.B | 302.A |303.D |304.C |305.D
141.B |142.C |143.B | 144.C | 145.A 306.A | 307.A |308.D [309.A |310.C
146.B |147.D | 148.D | 149.D | 150.A 311.C |312.D |313.A |[314.B |315.A
151.D |152.C | 153.D |154.D | 155.B 316.B | 317.C |318.D |319.B |320.B
156.D |157.B | 158.B | 159.B | 160.C 321. A
161.A |162.C |163.A | 164.B | 165.D
166.B | 167.C | 168.A | 169.A | 170.C Question no =47
171.A [172.C [173.C [ 174.A [175.C a b, 2 512 4.
99 99 999 990
176.B | 177.C |178.B [179.D | 180.C L - z60s L -
181.D | 182. A | 183.A | 184.A |185.A 9900 990 29 %0
186.A | 187.D | 188.B | 189.A |190.A
191. C [ 192.C | 193.B | 194.D | 195. A Quegftion no o271
196.C | 197.D | 198.D | 199.B | 200. D . b1 c. 181 d.1
201.A | 202.D | 203.A | 204.A | 205.C e 1 f.58 g1 h.31
206.D | 207.B | 208. D_|209.D | 210.D v & J425
211.B |212.C |213.B |214.A |215.C
216.D |217.D | 218.A |219.D |220.D Question no - 272
221.B |222.C |223.D |224.B |225.B a.9 b. 13 c.1 d. 1
226.C |227.D |228.C [229.C |230.B e. 4 f.25 8- 8 h. 2
231.A |232.D |233.C |234.C |235.B i.5 j. 27 k. 16 .4
236.C | 237.A | 238.B [239.A |240.D m. 5 n.1 0.35 p. 4
241.C |242.D |243.D [244.D |245.B Q.7 r.1







